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Connection Settings

D Mot Running
") Local Settings
Source MAC Default Source MAC 00-80-16-8A-8D-E2
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TrueSpeed P1: 10/100/1000 Eth Layer 4 TCP Wirespeed Term
TrueSpeed Controls

L  This step will configure global settings for all subsequent TrueSpeed steps. This includes the CIR
smmwy  (Committed Information Rate) and TCP Pass %, which is the percent of the CIR required to pass the
throughput test,

¥ Run Yalk-the-Window Test ¥ Automatically find MTU size Cﬂncr:c; at; l;ev!
Pyrom— ] init
Total Test Time (s) | 240 Nu::m ?é’:&i’“m
Local Remote
CIR (Mbps)
Type [Tos 4 40,00 \
TOS 000000 |

O ASLAHAE 74

1.2E TCP EAES| & HIAE AIZHEIA 30X).
2.2Z2 % HA QoS/VLAN EH(VLANE EAIZIX] 25).
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Run TrueSpeed Tests

TrueSpeed Steps

Path MTU oo

RTT o Run
Test

Walk the Window e

TCP Throughput

Test Status Key
Pass 7447 Running
I Fai +as Scheduled

p TrueSpeed Tests
End: Tes
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Walk the Window
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TrueSpeed

Run TrueSpeed Tests

E] FAIL Test Complete

TrueSpeed Steps
Path MTU
RTT

Walk the Window

TCP Throughput
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TCP Throughput

Actual vs. Ideal [ Throughput Graphs I

| K+ Upstream H & Downstream |

Transfer Metrics

@ TCP Efficiency

o Upstream test results may indicate: (%]

96.18

Policer dropped packets due to TCP bursts, hore

Policer dropped packets due to TCP bursts.

@ Buffer Delay

TCP retransmits were detected per RFC 6343 (TCP Efficiency o4

%) and Buffer Delay % was low enough to suggest policing

the culprit
LR Ideal L4 (hibps L

TCP trafiic is bursty and a policer will 'chop’ traffic which
exceeds the Committed Burst Size (CBS).

Consider shaping the trafiic before sending into & network
policer or increase the CBS size of the policer.
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TrueSpeed

Step Configuration 1

@ TrueSpeed Steps

Mot Running

¥ Path MTU
<

: ~ RTT

| Walk the Window
| TCP Throughput

| Traffic Shaping

e R
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=

P1:10/100f1000 Eth Layer 4 TCP Wirespeed Term

=30

1210 TrueSpeed HIAE 7+ 4 8 H
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HAE= RFC 63490] X|HE =M2 Halz|d, & SHmj= 42 MTU HIAEQILICH O3 e B2 MTUZH1500
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[

The Path MTU was determined to be 1500 bytes. This equates to an MSS of 1460 bytes.

e This step determined that the Maximum Transmission Unit (MTU) is 1500 bytes for this link (end-end).
- This value, minus layer 2/3 overhead, will be used as the size of the TCP hMaximum Segment Size
(MSS) for subsequent steps. In this case, the MSS is 1460 bytes.

O EEMIUEIAE B3t

T4 HAQIRTT HIAER ZI33t

A2 MTU HIAEE &t=3t =, TrueSpeed
PNE=1
o =

H

C}. 71 0|%= BDP7} 0

2|1 UV | 2 ULICH BDP= 0| X1 TCP ME2|Zs 05517 | ?lof == B[ AE HANM AL

13 12= RTTZF6.5ms?1 O] of|2] RTT H[AE Z1S 20z LT

RTT Summary Results
Avg. RTT (ms)

6.576

RTT (ms)

Iin, RTT (ms)

6.576

ha. RTT (ms)

0 2 4 3 ] 6.577
Time (5}

The Round Trip Time (RTT) was measured to be 6.576 msec. The Minimum RTT is used as this most

closely represents the inherent latency of the network, Subseguent steps use it as the basis for
predicted TCP perfermance.
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TT(X
21132 Walk the Window EIAE s BodsL|ch

Al TrueSpeed P1:10/100{1000 Eth Layer 4 TCP Wirespeed Term
Eg Walk the Window
|E | A Rinind /A —

a0 M Actual
: 3 M deal
Z..3
4.3
4 I I
o | e | |

™ 32KB Window T B4KE Mindow T 126KB Mindow T 25BKE Window
1" Conn. % 32KB 1 Conn. = B4KB 1 Corn. = 126KB 1" Conn. = 296K

The results of the TCP “Walk the “Window step shows the actual versus ideal throughput for each
window sizefconnection tested. Actual less than ideal may be caused by loss or congestion. | actual

I.l.l. is greater than ideal, then the RTT used as a baseline Is too high. The TCP Throughput step provides
a deeper analysis of the TCP transfers.
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Eg TCP Throughput
E] FAIL Test Complete

Actual vs. |deal | Throughput Graphs I
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Use these graphs to correlate possible TCP performance issues due to retransmissions
andfor congestive network effects (RTT exceeding baseling).

T 5. TCP ME|Z HIAE T2 =

O\\

VIAVI= RFC 6349 HIAE S 286104 Traffic Shaping(E2fE MO &) HIAEE NS &LICE Traffic Shaping2 XS5
HESXI HHZF2Z, UEHT ZX[7t CIR0| [t EcfEH s ClEELC
0 2

= raffic Shaping= CPE(Customer Premises
EXIREH W ERH R sa=Xt= &

ET
HES shaping(d&at)atod TCP 851t 2&

rol'

Equipment) & & X0l A == E
o

M5 2 BHY 7| j=2of TCP Ecf =S MO|ZSIX| 2o} HIE$EL Z2| M2 TCP Hs0
*04@% Dlivﬂ = %% |CH ’éi%oi% FECH2, ZHAl= CIRS = 1toh= Tt st EcfE S Hetf TCP MM &S
A Z = T

=
d50] 3 Motkl= X7 dULth 2= 162 E2HE M0|H Tf

x
10
D‘l“
>
=
]
m\m
1
-
Inl

N Policing(ZHAl Ar
= A /%EH I_/_.‘:EA ﬂ = EH &5

Shaping(& & 8h

e
2 2

E
Im
ful}
izl
3
H‘|

=6, ERf= Ho[iH tf Z2| M2 g 2|

12 TrueSpeedE A% RFC6349HAE - 2|3 ALSRI2t SYS U EAS HH



TrueSpeed= HO|E H 2 HES0| +=dk|= Ecfims Ge6H 20 == EcfiH Mo[E HAE &3t
O 72 30| §85= EfHO| LHEHLE L=, 4702 TCP A2 0| =0 gEs| "Xt

2ol sk

o] A

[T “. A

e I A A

] A A AN,
ol AV WS FEETAYER WYLV
Foll o N LN XAAN
i

15
Time (s)

For alink that Is trafic shaped, each connection should receive a relatively even portion of the
bandwidth. For a link that Is trafiic policed, each connection will bounce as retransmissions occur due to

@ policing. For each of the 4 connections, each connection should consurme about 77.129 hbps of
bandwidth.
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For alink that is traffic shaped, each connection should receive a relatively even portion of the
@ bandwidth. For a link that is traffic policed, each connection will bounce as retransmissions occur due to

pelicing. For each of the 4 connections, each connection should consume about 77.129 hbps of
bandwidth.
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